PART - A
- #Maﬂg@,wémﬁaw%gﬁmﬁrmm Feanaad .

-~ " B —= 2
© et S RO 2T YOV UFOETO1
Che B ¥

]-- .
fog by ©n © 85 (d) 3-
s 3 fufe i nt fedch wes AT 9E:
(@) wwiE-EE (b) FIHF (©) FEEE (d) Eow-ER -
5 ﬁmﬁﬁ@@gﬂ@ﬁuﬂjﬁimaﬁlﬁ?
@ TEgisd @) s@ed (b @ sestEd

4. wotfeddtume faoard?
@ waws/foren (b)) Ssudt/8ese (o) Gem/GEM (d) Gds/»uE

o

d" fiod waet fed fagg midu e d ?
(a) Hu3 (b) =g (¢) St (d) Sam=.-

6. faoF HEE ‘“»e" HEE O ANGORE HER d ?
(a) WS- (b) wiwe (c) @3 (d) WS

7. 35 folm 63 go-nows qev v faog mis wdt & 3 2
(a) " aeh (b) .- (€) g (d) /RS

8. wmwmmm-ﬁmi&amwfeamma (g7 o9 mye) 7
(8} 90 ®) s (o a6 @ we

rI.

—
2

13. oo

14. -8

SA/:



11.

13

14.

15.

16.

17.

19.

20.

wwﬁwﬁmﬁiﬂﬁmmmﬂﬁ?ﬂ?mwww?
(a) d3fs8w b deedRg, (o T (d) wraft

At fist fied faoe e #HY 92

() fows (b) € (e (d) foor
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(€) fém (dy =
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(a) Yz (wazea-sfaa) w &5 ef-ga)

© o= (gs-ned) (dy iy (Faa-negeEs)

weedt wae o e wes & wdft e 92

(a) YEETE b) yzefaz () uzesH! ){d} yEeas
a) fe=m= by =famr - (¢) witas (d) weEd
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(a) BT b) wE (€ 3§ @
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i Pt 043 fsares-grarm [l ferne & uatial i Aftmr 32
() Wy v wded b) W had adl ree
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e fiefeantt 8 ferorar vl fen gu ot o5efl eafimn e ?
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59,

62.

Who among the following freedom fighter opposes the Annie Besant's idea of launching Fome Rule
Movement ?

(a) B.G. Tilak (b) G. K. Gokhale

(c) Aurobindo Ghosh (d) Mahatma ('.}le_i'r‘!i

I fod gdsas Awaiyi féd & niol ﬂﬂeéﬂugﬁvﬁmﬁgaﬁéﬁrm?ﬂgﬂumﬁ ?
(a) o fsus (b) 3 TS

(c) wrafde iy (d) war ardt

Which is the Longest River in India ?

(a) Yamuna (b) Satluj (c) Ganga _~ (d) Brahmaputra
g3 & /e 3 dd 5t fagdl 32

(a) THE (b) W3BH (c) diar (d) ¥FIHY3d
Exercise Garuda Shakti 24 is conducted between India and which country ? ‘
(a) Russia - (b) Maldives (¢) Indonesia (d) Australia
S1g= Hat 24 © mifsne 393 ni3 far 2 fegag disr e d ?

@ o (b) e (¢ fessdine (d) mERHmT
In which language did Bal Gangadhar Tilak start his magazine Kesari ?

(a) English (b) Hindi - (c) Marathi (d) Bengali
w75 glaraa f58d & M e aFdt far 3m e gg st 2

(a) wiareH (b) foeh (¢ wast (d) darst

Which of the following is the correct full form of UNFCCC ?

(a) United Nations Framework Convention on Climate Change

(b) United Nations Framework Convention on Conservation of Climate
(c) United Nations Facility for Conservation of Climate Change

(d) United Nations Framework Corporation on Climate Change

It &3 f&d fsoar UNFCCC T Rt yargu 3 2 |

(a) TBEY IHEH! B9 HUSS d'HEd SOHETE SBeaHE

(b) 7EEY € I 873 HY93 gHCd SoHETd dGeaHs

(c) 7wey ufgeazs &t Ags gt Huas ames & Ages

(d) 7rey sEE 8 Haes aHes edvess aaldns

What does GST stand for ?
Ea; Gmdmuﬁﬂm'm (b) Grand Services Tax
)  Goods and Services Tax_~ d) Goods i
T
() i g (b) 3 e 2

k ' j () HE 3 Inifdar dan
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e, Whichof the following is true about the Attorney General of ndia ?
@  He advices the Government of India
by Hehas the right of audience in a1l the courts in India
) Hﬁmﬁiﬁmnﬁiﬁmﬂmmigwdﬁbywwm
y Al the above _
s @ weas Haes vl 35 Pafhnet £ P 9B 7
a) GoFo3HsEs Sama e d )
() 6% zas doit it wreesst 6 audience & e 3
© @én@%ﬁ%ﬁﬁﬁmwmm?ﬂ*ﬂﬁ#
) Gudss A

@ Bali Padyami festival is celebrated in which state ? X .
. {b} Malmrash&a | {c} Jharkhand {4} Kamaiaxa
@ fera (b) HITHE :{c; wads (@ weEeH

trade and industry for the }?eﬂ!m

(a) ShRahul Bajaj (b) ShRatanTata

H (@ ShCyrus Mistri ~ (d) ShSitaRamJindal
fmmmWamagaﬂmé&aaﬁawmanmwm s

a@ﬁ

@; ﬁmm ® fassee

(d) a@mwm

Name the person, conferred with the Padma Bhushan award for his contributions i
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Quit India Movemaoent® initated by Mahatm# Gand o e s
= M i
i Civil Disobedience Movement () non {_t. I h
{d) I ]Iir1L|| |h1-ll-

() Swadeshi Movernent £3 WS & #

MW gt Enrar s 1042 ¥ ma e arefl W3 & ; 8
. npafacta M (%

fogar it 3

(@) THes srEmrat nieen (b}
el nites (d) =i} W
Mawine Aelds ¢
Ihe name of Pierre Cardin is associated with which of the following !
Fashion Designing () Pop Nusic
(¢} Painting td) Films
i et 0 s R e e o s bt AT d?
(a) 2wa femdifEar (b) U AE(S
(c) dfdar (d) femut
Which country is the it.‘:idini_‘, !'Jl-,;_-.dm_-f.r of rubber in the world ? | |
(@) Thailand (b) Indonesia (c) Malaysia (d) India

2at fEg gag o e 3 & Gsyma A faaa 3 7
(a) =EleE (b) fES&HMT (c) HEBHMT (d) a3

Indian Navy's biggest war exercise MILAN 24 has been organized at which of the follow

places ?
(a) Kolkata fb) Andhra Pradesh (¢) Mumbai (d) Vishakhapatnam .
Fadt 78 Aoy @ HE 3 237 g mifsmm s 24 35 o 83 fam mars '3 i dfta famr 3 2

(a) SBEF (by mUFYyER (c) e (d) fermaruesy

Recently, Jyoti Berwal won which medal in the women's 76 kg freestyle category at the UZD wor

Championships ?
{aj Bronze

Which freedom fighter wrote the book “Hind Swaraj" ?

(a)  Subhash Chandra Bose (b) Bhagat Singh

(¢) Jawaharlal Nehru Ad)  Mahatma Gandhyj
“fde weaw unsa fan wdsas Amrad & find 2

(@) wWEEdesan (b) 313 fifw

(c) weaess sfug (d) wa=w ardl

SA/2212/CST-SRV-S1/A y .

(b) Silver (c) Gold (d) None of the abov
o di e, it daes & 020 fore Sitmafing ffg wasi 2 76 kg Srerdts egar iy fagm aar i
(a) e (b) = () ¥ (d) Gudes il s o
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)

which of the following can be quantitative pollutants ?
Carbon mi moxide

Methane

I Carbon dioxide I

1. DD1 W
(d)

(a) Only 111 (by L Hand1ll (c) I, Hand IV

3t 3 st fae WiseTavE yena 3 warer 2

[ raus SEETES 1 aaus HEnerEs

m #AA v, fiEs

(a) Pzl (b) L IIwR 10 € Lum3nv ()
Which city is known as the “City of the Golden Gate” ?

(a) 'Iﬂmnnl'MI (by Dubai {¢) Lisbon ()
fo o & “dvs3s die @ wfog” faa AT ?

(a) feAzEE (b) T=d (¢) forEs (d)

Place “Chakk Nanaki” is associated with which of the following places ?
Shri Anandpur Sahib

(a) Gurudwara Hatt Sahib (b)

(¢) Gurudwara Sri Kandh Sahib (d) Shri Nankana Sahib
AES e et A e e i fam o s 4 2

(a) ToEnr JeHToE (by i nideye wfoe
() dgena it &g Fid (d) T seae wied

Which of the following Guru Sahib has the
(a) GuruNanak Dev Ji (b) GuruTeg Bahadur i
(c) Guru Har Gobind Singh Ji (d) Guru Arjan Dev Ji~
ﬁfﬂﬂﬂ“ﬁ]ﬂ?ﬁi‘e‘ﬂhﬂ%ﬁ}@'ﬁ*ﬁﬂiﬁﬂ?ﬁﬁﬂﬂ'ﬁﬂ ?

All of the above

Guaaz 3

Gan Francisco

s g

maximum number of hymns in Guru Granth Sahib Ji ?

(a) JEBALE Gl (b) dIg 391 5T il
(©) zﬂgaazﬁﬁeﬂiwr-ﬂ () g niavis 2E Tl
'4,3 When the First Treaty of Lahore was signed ?
(a) 9 March, 1845 (b) 9 March, 1846
() 9 March, 1847 (d) 9 March, 1844
i o ufad Adt &€ gRs™E <fi aret i ?
(a) 9W@S, 1845 (b) 9T, 1846
(c) 9waE, 1847 (d) 9wEY, 1844 R )
79. Who was founder of Lodhi Dynasty ? '
(a) Daulat Khan Lodhi () Bahlul Khan Lodhi ol
) Sikandar Lodhi (d) Sultanpur Lodhi
g e Amerua dz 7
@) =83 s Beft (b) EfoEs HE adt
(9 frieand () mseyE &h



s I wing sufi saint is considensd as the frst poet of Punjabi ? a7 Wh
< Suimodsfin Chist by Sheikh Farid [a)
Shetich Nummudin Aukiy (dy Sheikh Salim Chisti (c)
‘TTT:%?E#‘ Ij1|=1"'a°‘r_- mrhwaﬂﬂ#ﬁﬂ'?ﬂ’ 213
) Buuiiscs o b) wuzdle a
= s e (dy B weih farE i
=
§1.  Which festival is celebrated in the month of Phagun (F912) ? _
{a) Basant (b) Lohri_~ (c) Diwali (d) Holi gs. W
== 2wt e ey B walow Ae 27 (2
@ wB (b)) B (@ e (@) et (c
-
B3~ When was the Arva Samaj, a reform movement formally established 7 (
wos Bis v e 2 i e a3 HE ? L.
(a) 1550 (b) 1875 c) 1883 (d) 1824
§3. Ancient name of river Raviis . _ 89.
fa) Vipass ) Askini (c) Sursuti (d) Purushni
FEE T USs o G i
@ fRarr (b) mElESH (€ wHamst (d) ugESt
84 The Punjab Reorganization Act separating the state of Punjab into two new states, Punjab and )
Haryana, was enacted in which year ? @‘
Ereaw 4 258 ow, e n3 afonre, g 2 w95 T Ui yaaaas Wae fan s g e fame A
(a) 1964 (b) 1965 ) 1966 (d) 1963
85. With which of the following countries Kama Gata Maru incident is primarily associated ?
(a) Japan (b) Indonesia (¢) France [d_:!,, Canada
W e g wem i 3 3issen fid faram adl ad A :
(@) S (b) fES&dmr () =™ (d) Az
86. Chappar Chiri is associated with battles between which of the following ? o1,

(a) HariSingh Nalwa and Afghans
(b) Baba Deep Singh and Adbali L

(c) BaghelSingh and Shah Alam Il
(d) Baba Banda Singh Bahadur and Wazir Khan.~

Fuzafad 3= fdiv 23 fagind sandielt &8 Féfs 3
(a) o iy mEe e vEars @
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93 How many pairs of ]eﬂem in thg word E:HMRS" hwe as many letters betwoen them in the: Worda o

in the alphabet ?

@  One “Ab)  Two (¢} Three {d) Mone
"CHAIRS' 1e s na 2 ﬁ%ﬁamaﬁﬁwﬁmﬂpmmémﬁ% e a5 7
(@) fég ® 2 @ HMs G

%’) ~In & row of girls, Rita and Monika occupy the ninth place from the right end and tenth place from
27 theleftend, respectively. If they interchange their places, Rita and Monika occupy seventeenth place
ﬁm’“?ﬁ‘“ right and eighteenth place from the left, respectively. How many girls are there in the
row

-.mﬁﬁﬁmﬁﬁﬁ?ﬂ#ﬂﬁm%mﬁﬂﬁihhﬁ%mﬁwm 3 9% a5 daE B
THE AR & HEER 0, 3t i3 Mfisan e v 3 v v 4R 3 i e 3 0 o e kel

T os 2
@ ) 2%
& 2 {d) Noneof &uabuvefﬁqaazfgﬁﬂﬁﬁﬂf

95, Speedufaﬂammiﬂmetemwmd Itcmmsﬂapnlgmiﬁmmds Wha:ti&ﬂm‘i&ngﬂ'mf
train ?.
%aa?ﬁé?am 30 %ﬁ&a%nﬁaﬂrﬁaﬁnﬁéﬁaﬂaﬁﬁwaam#}m#mﬁaﬁéﬁ
(@) 200 (b} 300 © ﬁm : (d) 450

96. Mx:hnumber mnffhe faﬂaﬂungrg Eequmfrmmﬂ h:r]aug?

% WHmmE; \hPala,cae VI, Mansion
(o) OLILIV,LVLV —
) {d; m,tr,zw;ww




’m' i A means —, B means < |, me
I-./f #ﬂ.‘\?ma—ﬂgmﬂ_;

11

Arrange the given words in the

e the seque
3 gTe HEE' G OF g fis fli-f'ﬁﬂffhhl?qu"nn‘ in which they occur in the dictionary.
l Pragmatic 3 50 frm it o nuedn ffg wrge 75|
) 3 . 1
4 Fostal 5 :’:nr::'r 3 [*fastel »
35412 s *bhle .
i) (b) 34512 (©) 43512 (d) 45321

=1
ans +, and D means x, then

LT HIER T + .
15B3IC2MAI12D2 =7 wR Do u3eE %, fed

a) M :
(a by -232
. 9
) = 2 |
{ 9 (d) MNone of the above/ e fedt 4t ol

:-1 bus c.cWEm a 60 knjt distance in 1 hour 15 minutes, whereas the same distance is covered by a car
in 4> munutes. What is the ratio of the speed of the car to the speed of the bus 7

e &7 60 fadie & et 1 w12 15 Rz g 3w et 3, 7 fir fixch gt ffm g 45 il e 3nr e 31 9
@ o n3 & & ot e nimurs At 3 2

/'{a.} 3+-R {b} 4:5 (c) 5.3 (d) 1:3

s
)

_,:E,}The value of x for which the expressions 10— 5x and 4x +1 become equal is :
r o e fim ot milaes 10 - 52 vid 4x + 1 HoHE B2 05

7 4

103.

(a) 1:"{' by 0 © -1 (d) 5

Krishna starts from his house towards West. After walking a distance of 30 metres, he turned
towards right and walked 20 metres. He then turned left and moving a distance of 10 metres, turned
to his left again and walked 40 metres. He now tumns o the left and walks 5 metres. Finally, he turns
to his left. In which direction is he walking now ?

fa) South (b) East (c) South-west (d) North -
fﬁ'ﬂﬁwméumiﬁgﬁiﬁggj?ﬁlmmaﬁga‘l 3 gu= § gz, 83 HR uR w3 20 viea Sfemr |
g fag ¥ ymA yigr 73 10 maaeﬁgﬁ'inmm,gwmm%&ﬂuﬁmmémmaﬁﬁmruea
Eﬁﬁuﬁwémﬁﬁxﬂamarnﬁﬁaﬁahﬂuﬁﬂéuﬁuﬁa193@3?&:7&?-&3331‘@& ?

(a) = (b) yoE () Sozusi (@ €3
4. Four numbers have been given, out of which three are alike in some manner and the fourth one is
different. Choose the odd one out. :
73 &ug 23 an g5, frg' &9 f= fo o fad gu &9 53 i g5 v I g ) 20T 2
(a) 23 (b) 45~ () 83 (d) 19
105. Choose the odd one out :
Wsgel: _ . )
__Aa)  Caleulator (b) Pencil (€) Ink (d) Pen
- 15
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106. If ‘sti nro kti' stands for ‘clouds pour down’,

‘riro bsi ]in_n‘}amnfiu rnjr ‘down he goes and b—*“‘-i!l[@ :ﬁ)ﬂb
_.'}Iu

zpi’ stands for “died down he' then which word would mean ‘goes’ s ovel st

HEd ‘sti nro kti® @ "H-:iﬁ .ﬂ ‘clouds pour down’, ‘nro b&i mit’ o yaEE d ‘down he goes bsi nirg

Zpit H3EE 3 ‘died down he' 3t fan HEE € MgH d ‘goes” 7

(a) bsi (b)) mit _~ (cy nro (d) kb ﬁ

the word ‘DISTRIBUTE" are interchanged:

107. 1f the positions of the first and the sixth letters in _
third and the eighth and so on, which of

similarly, the positions of the second and the seventh, the 1
the following letters will be the fifth from left atter interchanging the positions ? 45,
Ae@ ‘DISTRIBUTE’ mémmaﬂwwmgmwa;mﬁﬁgﬁ ni3 H32, 3 "3 gf
Mwwm,mgmgmwmﬂwfﬁmaﬁmm?

Bt b) S © T (@ E.~

o~
lnﬁf,;ln a caravan in addition to 50 hens, there are 45 goats and 8 camels with some keepers. If the total
" number of feet be 224 more than the number of heads in the caravan, the number of keepers is - 116

mamfﬁamwwgmﬁmme3gamaqsmaanﬁﬂa+é1aﬁfarﬂm%ﬁa‘
2 foreft 58 224 29 3, 3 usa < fareSt gl

(@) 8 (b) 10 5 15 (dy 5
109. Evaluate:
HEEE dd !
[6+6%(6+6/6)]+6/6 11
(a) 84 (b) 50 (c) 49~ (d) 85

110. If3x42y=7 and 4x—y=24 thenx—y=7?
Add 3x + 2y =7 hf%#:—y=343ix—_y=?
(a) 1 {by * —9 i) nrd (d) 9~

) b

111. P+Q means P is the brother of Q; P—Q means P is the mother of Q, P xQ means P is the sister of é
Q. Which of the following _j:]gans:h{is the maternal uncle of R ? =

b ernaad P QA MY, Px Qe EEE P Qe i 3 R Rl by




o

/3' fifa ﬁa‘a oy EEIT'ﬁ ~1 282, 354, 4':;31'9 similar to the number 282, 354, 444 :

s 3
; E "~ ah (€) 494 (d) 417.~
4 Choose the different number from t
gt {567 3 evor Swg g2 - he rest three -
If: of o B} 58 (©) 659 (d) 7487
wjumber of letters skipped in betwe
en adj creased
3 & by one. W hich of the follo adjacent letters of the serfes starting from behind are in

Wing series obseryes this rule ? —orfenp
mgmkwmémmwé

o fegera &3 and whugi &t siftor § 3 &8 =
mﬁé‘émﬁs‘thﬁm}{ﬁmaﬁw ;

R (b)  OMKIG () ONLK] (d) OIGDC

I
ﬂg Five children are sitting in a row. S is sitting next to P but not T. K is sitting next to R who is sitting
b § & enthe extreme left and T is not sitting next to K. Who are sitting adjacent to S ?
{a) RandP (b) OnlyP (© PandT— (d) KandP
U 99 P9 3579 129 8% 9551 S P @ &5 v um #51  va T adli K, R 2 35 v um S A ns 3 e
yR 85" 3 i3 T K 2 38 adf e 31 32 52 33 (adjacent) 35 952

(@ R»3P (b) froeP (© Pm3T d Km3P

7. ifA=1,B=2,C=3and soonand APPLE = 50, then CALCUTTA =?
fad A =1, B =2, C=3m3... M3 APPLE = 50, 3 CALCUTTA =?

(a) 84 (b) 83 © 81~ (d 80
i, gl egevre it s, e n3 &R & faar v d -

(a) war (b) WaF (c) mwigathel ferfrs (d) e
@wmﬁﬁfaﬁm—ﬁ@ueﬁmﬁmw?

@ e (b)- 33 () (d) fmra
18, g e feaes, e, i e @ T 82 !

fa) w@a (b) HAS (¢ =fis (d) fode

L 3= FEe-Ag ew Ead? o
| _@mkﬁhﬂwﬁu A — Y
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1a5.

146.

147.

148,

Which operating system ig apen source 7

(@ Windows10 (b}  macOS (<)
faraar Gudfdar ey Gus fan 3 2

{a) R0 (b  macOS ()

loinsert a video in MS PowerPoint, a user has to

{a) Goto Insert tab and click on Video
(b) Go to Home tab and click on Insert
()  Go to Design tab and click on Video
{d} None of the above

(d) Kiane of the above

|iritix

@xé'a'aﬁi‘ﬁaﬁmﬁ

e (<)

MS PowerPoint 53 s A8t6 wi= md, fia Qudam: § & 850" yeal T

(a) fosmee e 3 wE w3 dHE 3afEass
b) w3 aEnd feree Falaad
(@ foadsdu IwEn3 GG Iaflasd
(@) Budss i et

VPN acronym in networking stands for :

(a) Virtual Public Network (b}~ Virtual Private Network
(¢} Variable Performance Network (d) Noneof the above
Eoegfidar fég VPN ey HEE €1 Mas G

(a) EdEws UElEE S2ES (b) woows YEide Bean
© eftes st Seess @ Gudes i v oot

What is “Print Preview’ in M5 Word ?

()Tt shows how the document will look after printing.

(b) It shows the print dialog box

(c) Itsends the document to the printer
fd) None of the above

MS Word féa iz fife@ =t 3 2

(a) feawawge d s fifféa % gmore eased il fewrd) 22y

(b) feafie s wan fewfer d
(c) feg oraee flfea & Smer d
(d) Guaes & & 5l
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